| Efficiency vs Dxy |
0.5
<

5 S
L | s S S
< A T T
o e e
ko) A T T
e e S A
T T e e

effi

028
R
QS

T e
005
o+

Rati

=
!

098 56-156-10 =5 0 5 10 15 20 25

TP dxy (cm)

—=— DQM_V0001_R000000001__Global__CMSSW._orig

| Efficiency vs Dz |

—e— DQM_V0001_R000000001__Global__CMSSW._allchi2

N 0.5
= H H H H H
D.45F - Feeeeeeeees Peeeeeeeee Beeeeeeeen frreeeeseen e
> . . . . .

Boab
@) r : : : . .
.35 o Frrereree frorereeeee A
v F : : : : :
O e e R

LT S S s S —
02 e T

30 20 -10 0 10 20 30
TP dz (cm)



	Contents
	Page 1


